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=1 - = o BREH X ERERRE| . R E
=S A3y mE FREY (5H) 90134 (b594134) ®I9h137 (£594137)
(EES FARY BB LT AHRET 26H(N) [ A& 12.7 | A%E 1.4
EES aNVF LT PHEIRE  [31HCK)|[ A&EE 13.0 | A%E 11.6
EESES 2w 7Ty RO BT R FET 1B3H((E)| ~&d 12.8 | &1 11.5
EES Y14y () [BAUmFHERE [3I1HCN)|[ AEH 12.8 | A& 1.7
RESES =XF a8|llm 11H0K) 10.3 8.4 36.8 8.1
6 |k GiFk BEk®) [FHAK BB LT AHRET 13H ()| A%BHE 5.0 | A&EH 4.5
7 |k GiEk. B=x%) |HRIK BLUFEREE |25 (&)] ~MaE 4.6 | ~MEH 4.1
8 |k GiAk. BmEA® @K B ER AR 12B(R)| A&H 5.1 | A1 4.5
9 |k giEk. mEk®) [EIK BT ET 0 A 6H(&)| A& 5.0 | A&H A
10 [IIEE-FDO2FE[(UR H# T IH(B)| A& 12.7 | &1 11.1
(MRNERERR AP RIRE 6H(&)| ~&d 10.5 | ~&H 9.2
12 [ILEE-=0CFE (5 ./3 £8 1L EEET 6H ()| A& 10.8 | A& 9.6
ENERERR ALY BLmBmiloE | 98K ~M@E 10.8 | ~&H 9.5
MNERERR ALY LU AEITRE [13E(&)] 3L 9.8 | A& 8.9
15 [LE-=n2FE|[#F ./ BLUHAEITRE [168(B)] &L 16.2 26.6 7.7
16 [LIEE-=n2FE|[»#F ./ EIERN=E=t] 26H (K[ A& 10.4 | ~1&HE 9.2
17 [LE-=02FE|[#F ./ ESLLUAHEMNEIIT [ 11HOK) [ A&EE 12.0 | A%E 10.6
18 [ILE-=n2FE|[#F ./ BLUMmFEIEA [10BCN)]| ~&E@E 10.2 | ~&HE 9.1
ENNERERR ALY EBLUHHHITSE 9H(B)| A&H 10.8 | ~&H 9.6
INERER R L= BLHAE 6H(&)| ~&d 13.2 | *%E 1.7
AINERER M AELPE LR B 6H(&)| A& 14.8 15.7 7.0
Y NERER M AELPE LR B 6H(&)| A& 9.8 | A& 8.7
EINERE R L= BT & 25H(K) [ AR 1.4 | ~1&EH 7.3
NERE R L= LT =FEHIASE | 13H(®)|[ A&d 1.7 | *%E 10.4
25 |E-TDCFE (¥ ./ O ag|llm 12H(K)| A& 9.4 20.3 6.8
26 | -TDCFE|(F¥F /O H# T 2H(B)| A& 12.3 12.5 10.8
27 |E-TDCFE (Y5 ./3 H# T IH(B)| A& 15.4 21.3 7.3
28 |UE-TDCFE (/O —_ AW 2H(H) 8.6 6.2 43.5 6.6
29 |E-TDCFE (YT ./O —_ AW 2H(H) 12.5 10.9 53.2 8.4
30 [lLEE-=DCFE (/O —_ AW 6H ()| AtEH 9.6 39.3 6.9
31 [IE-=n2FE[#F ./ A= 9H(B)| A&H 13.2 11.1 6.4
32 [lLEE-=0CFE (¥ /O EN=T 9IH(8) 17.9 6.9 107.0 7.2
33 [IIZE-ZFDHE (#7712 Ktk |[AIERA]ET 95 (/)| A~ &H 12.8 | *%E 11.3
3 [ -ZFD2HE #7712 (Ktk) |BRLT 1MTHOK)] R~ &HE 6.2 | ~&H 7.4
35 (U= [#7/0 Kitk) [BRLLTEZ=IRE] 30H(B)| ~&E 10.9 | A~M&H 9.8
36 (LEE-=DcE (¥4 /3 (n) [BBLUTh 2H(B)| A&t 12.4 | A& 11.1
37 [WE-=0czE (¥4 /3 (2n) (BBl 16H(B)| A& 11.9 | ~M&H 10.6
38 [LEE-=02E (¥4 /3 (4n) |[BBLLThENERT 9H(B)| A&t 10.7 | A& 9.5
39 [E-Zo2fE(F57 /3 (&) [BLHEERZTE [168(B)| % 10.0 | ~&HE 8.8
40 [IlE =02 |74 /3 (7o) |[BSLUmEEBHE]A%E 9H(B)| A&t 1.3 | &l 9.8
41 ILE -0 |77 /3 (Zn) |[BLm2eI EREE| 6H ()| AMEH 9.6 | A1&EH 8.6
42 [l -=cF|»45 /3 (Zn) |[BLHERBEI FEEE| 11HOK)| A&EH 15.2 12.9 7.2
43 ILE =2 |77 /3 (Zn) |[ESLUHmEEHETE] 2H(B)| A&t 9.9 | g 8.9
MENERER A EPER G IR ENGES T 2H(A)| A~ &Hd 11.3 | F%E 10.0
45 |[IEE-E02FE (7 /30 () |ERLUGHEE 9H (/)| A~ &H 1.1 | ~&E 9.7
46 [l -=ncE |[#47/3 (zn) |[BUMHANHEEISE | 6H(R)| A% 9.6 21.2 1.7
47 IIE-FncFE[H7 /0 (Zn) BB =FHEEEEL | 68(R)] F&E 12.1 | ~&E 10.7
ENERERRM AEPERC DEEEILD 21H(®)| A& 12.9 | ~&E 11.5
HNERERRM AEPERC ODEEEILD 30H(B)| ~&H 1.7 | ~&E 10.5
50 [IZk-=nciE (#5770 (Zn) |BENE=FH 9H (/)| A~ &H 11.2 | ~&E 10.0
51 [ -=0cE (A5 /0 (7n) |HNE=FH] 16H(B)| A& 9.4 24.2 6.3
52 [ -F0FE [ /3 (Z0) |BENE=FH BN & 12.4 | ~1&HE 11.0
5 [LE -2 [FF /3 (Zn) [HWNSE 10H(CN) | R~ &HE 10.2 20.8 7.2
5, [LE-F0cfE|[FF /3 En) [ZH&NH 2H(B)] A~ &HE 13.0 14.9 10.3
5 [UE-ZF0cfE[FF /3 En) [ZHFNH 18HOK)| R~ &H 13.0 | ~&HE 11.6
56 (=002 (¥4 /3 (7n) [REM 6H (&) 10.0 6.8 39.3 5.0
5 [LE-F02fE[FF /3 (Zn) [A=m 118 (K) 7.7 6.7 46.0 6.8
58 [z :-=0E (7 /0 (&) [ERRMEBEAH 10H(N) | Ri&H 11.2 | ~1&E 10.0
59 |[IZ - =D CFE |=~HUST (Zn) |ERLLT = famm] 26H(K)| A1&HE 11.6 | ~&E 10.2
60 |3« EDCEE |=x~HAUSHS (F) |ERRMESIEETCH]T 26H(K)| A& 14.0 56.9 5.9
FENERED R AESEPELECGRET T tadl 28H (L) A1&HE 9.6 | A~%&H 11.6
YNERETR R APES BILUTBmBI e [ 26BN MR 12.8 | A~ &HE 11.9
63 [ILE-=ncFE|[7F (@) SRR A 10H(N) | Ri&H 9.2 | A~%&H 8.2
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(B4 : A 9Ll/kg)

=1 — = o BREH X ERERRE| . R E
== AF3U mBE FREH (5g) | BIA134 (by9h134) 994137 (1994137
64 [LIZR-=D2FE[7F (z0) B LI E i ET 190 (K)| A& 1.7 | A& 10.3
65 [ =ncFE|[7F (@) BB LI T A HET 2H(B)] At&HE 10.4 | ~&E 9.3
66 [LIZE:-=ncFE|[7F (@) HA™ 30H(B)| A& 11.1 | A%E 9.9
67 |IIEE-FTDCFE |ZvP~Y1>5oY |BBLUT AT 2H(B)| A& 11.8 | ~#&H 10.5
68 |3 =D |[EZIAY () |[BRESART 2H(B)] A& 10.3 | A%E 9.2
69 [I:-FDFE[TSE EGINT 10H(CN) [ A& 13.2 7.2 6.4
NERERR:APELS Al || EBFH 2H(B)] A& 13.1 | ~&HE 11.5
71 [ -FDOZFE[TSE RIS 6H ()| A~i&E 7.2 | A%&H 6.4
72 [ -FQZFE[TSE R ER S | T 23H(8) 8.8 6.8 57.7 6.7
73 [ -FQZFE[TSE B8 ER IR IR AT 23H(8) 10.6 6.4 45.9 7.4
7 ([LE-=02FE 758 (KHER) [WhEm 20H ()| A% 10.6 | A& 9.5
75 [LE-=02FE[US5E (KHER) [E2AMH 13H ()| A%&HE 6.3 | A1&H 7.5
76 [l F0 (7S5 E otk [BRILT HArEE 2H(B)] Ai&HE 11.6 | A%E 10.2
77 |[IE-F02FE(7SE (KtHkR) [NEEAF 2H(H)| A &H 10.5 | A%E 12.8
78 |[IE - FDOCFE|[TVSE Ktk [EEEEBEEH 21H (&) <% HE 7.1 | A &H 9.7
79 |[IE - FDOFE|[VSE (KTHR) [ERREREEAHE 29H(H)| A& 8.4 13.7 10.2
80 [UE-FnZHE[TSE (Z) WHEM 10H(N)| A& 11.0 | A%&H 9.8
81 [B=E o X (§4vE) |BUmFEEIRE [ I HC) | ARH 10.4 | ~&HE 9.5
82 [B=E o X (F4vE) [BLUHERT & 26H(R)[ A& 10.8 | ~&H 9.5
83 [R= PN 8L R T 21H ()| A% 9.9 | A& 8.7
84 [Zofb BA EBLLI & T 238 (8) 11.1 4.6 64.5 4.6
85 [Zoft BA BB LTimBT e [ 17H(N) 16.3 12.8 77.1 6.8
86 [Zofb BA BB LTimBT e [ 17H(N) 16.8 8.8 79.7 6.4
87 [Zoft BA ELTHNETSE]] 2H(B)] R~ &E 12.0 38.8 5.3
88 [Zoft BA L= HE ~sFE ]| 18H (k) 45.8 6.6 252.0 6.1
89 [Zofb BA L =FEHET =M | 305 (8) 44 .8 12.0 232.0 8.5
90 [Zoft B+ BB A SFET 21H(®)| A& 9.0 | A~ %&H 8.0
91 [Zofk AEY BB L& 30H(8) 16.8 6.0 79.3 7.4
2 [Zoft AEY ST e BT 28 21H(&®)| ~%HE 12.0 23.0 5.6
93 [Zoft AEY LT HREITRE 31BN NEE 14.3 23.4 6.7
9% [Zofb AER BLUmHAERE [ 13H(&E)] A&E 13.1 35.0 5.5
95 [Zofb AER L =FEHBILO | 27H (&) 28.1 7.1 126.0 8.8
9% [Zoft KBhH BB A~ HT 28H ()] ~%HE 6.6 | ~&H 7.9
97 [Zofk = a8)lm 19H(KR)| R~ &HE 12.8 | A%E 11.2
98 [Zoft = HA™ 208 (&) ~%HE 11.4 | F%E 10.0
99 [H27TEEEXR K (ZKXK) ELHZEEERE [ 10BCN)] R~ i&EH 1.7 | *%E 10.4
100 [H27TEFEX X (BX) HANE =ZH] TTHCK) [ A& 1.7 | & 10.5
101 [H26FEUFIEXR K (BXK) HA™ 208 (&) ~%E 10.6 | A~&HE 9.7
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